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Soicrcce T
Calculer : | : el
C=(-7)x(+3) B=(-7)x(-3) A=(H7)x(+3)

C= -7x3 B= 7x3 A= Tx3

c= -21 B=_ 21 A= 21
F=(—13)x(—6) E=(-13)x(+6) D=(—7)x(+3)
K=(-17,9)x(—8,7) H=(+13)x(+6) G=+H13)x(—6)

Soiercee B > I
Calculer : | © Caal
C=(5)xH+7 B=(—6)x(—98) A=H5)x(+4)

F=(-12)x(-7) E=(-13)x(+6) D=(-2)x(+23)
K=(-17)x(-3) H=+35)x++3) G=H21)x(—5)

Soeroce—— F I
Calculer : | ¢ el
C=(+5,5)x(+84) B=(-5,7)x(—6,8) A=(H+7,6)x(+4,3)

F =(—6,41)x (+ 6,21) E=(-3,52)x(+7,53) D=(-9,4)x(+4,6)
K=(+32,5)%x(-17,5) H=(+12,6 ) x (+ 23,7) G =(+32,5)x(—41,3)

crercce 18 « I
Calculer : ¢ el
C=(+5,5)x(+8,4)x(+5,7) ‘ B=(-5,7)%x(—6,8)x(-8,5) | A=(H7,6)x(+4,3)x(+5,6)

ST 5 I
Calculer : | -

C=(-Dx(2)x(-3)

B=(-11)x(—4)x(+3)

A=(+6)x (+7). X (.—2)

F=(-3)x(—4)x(+5)

E=(+13)x(-2)x(+10)

D =(-12)x(—4)x(+9)

K = (+6)x (4+23) x (—45)

H=(-2)x(+5)x(+7)

G = (4 x (+5) x (+6)
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Calculer en utilisant la calculatrice :

|

C=(-5,1)x(—6,2) x(—4,3)

B =(-1,1) x(-14,5) x (+3,1)

A =(+6,5) x (+7,6) x (—1,2)

F =(-3,3)x(-7,4)x(+3,5)

E=(+3,1)x(-2,1) x(+3,6)

D =(-12,6)x(—4,9) x (+7,9)

K = (+6,17) x (+2,23) x (—4,35)

H=(-2,3)x(+4,5) x (+6,7)

G =(—4,5) x (+5,8) x (+6,3)

Exercice 7
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Calculer en utilisant la calculatrice :

B =(—11)x(—14) x (+31) x (-21) x (+-30)

A =(+12)x (+6) x (+7) % (-12) x (-4)

D = (+5,6) x (-7,3) x (=8,1) x (+3,4) x (+9,1))

C= (7D x(9,5)x(2,1) x (+1,7) x (+4,3))

Bonne Chance
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Bercce —— B 1
: u.».u;\

Calculer :

C=72x3-1,5x6,3—79%x5-4,6 B=-5+4x3-7x5+8 A=11-2x5-3x2+5%x6-9

xercice 2 IR
: L_u.n;\

Calculer :

F=11,2x3-6,5%x12-3,9-13,6x5 E=7,2x3-6,4%x9,1-6,3%x0,7 D= -92x2-54%x7-6,3x4

| Bxercice [ 3
Calculer :
R=-2,8+2x(13-3,3)+3x9 P=(4,7+3)-5x(3-2,1)+7x2 M=14—3x(6,9-4,9)—7,2x5
[ Exercice I +
: L_Lua\
Calculer :
K=2x(7,2-5)+6—3x(7—4) H=-5+3x(41-72)+8x4 G =11x5-2x(31+61)—2x9
| Bxercice [ sHEE
: a_u..u;\
Calculer :
B=—30+5x[(13-11) + 2x (23— 14)] - (-21+2) A =3x(-5+12)—5x(6-15)-3x[(+7-13)- 4]
| Bxercice [0 o. IIEZSI
| Calculer: | ET——

A=—30+5—(—21+2)-[—5+(-13—11+2)+2x(—23+14)-3]—(—21+2)

A=—17—3—2(—11+3—5)-[-7+(-13—11+2)+2x(—23+14)-3]—(—21+2)

A=-30+5x[(13-11)+ 2x(-23-14)|- (-21+2)

A=-30+5x[(13-11)+ 2x (23— 14)]- (=21 +2)

A=-30+5x[(13-11)+ 2x(-23-14)]- (-21+2)

Bonne Chance
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